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COORDINATE PUZZLES 
 

Who Is It? (B) 
 
 
 

The graph shows the number of brothers and sisters 

for four children. 

 

 

Clues 

a. Eric has the fewest sisters. 

b. Matt has the fewest brothers. 

c. Diane has one more sister than Josh has. 

 

 

1 Who is A?  __________ 2    Who is B?  __________ 

3 Who is C?  __________ 4    Who is D?  __________ 

 

 

 

 

 

 

 

 

 

 

 
[Source:  Groundworks Grade 4, p. 10, Creative Publications] 
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Who Is It? (C) 
 
 
 

The graph shows the number of brothers and sisters 

for four children. 

 

 

Clues 

a. Angela and Larry together have four brothers. 

b. Sid and Beth together have no brothers. 

c. Beth has one more sister than Larry. 

d. Sid has two more sisters than Larry. 

 

 

1 Who is A?  __________ 2    Who is B?  __________ 

3 Who is C?  __________ 4    Who is D?  __________ 

 

 

 

 

 

 

 

 

 

 
[Source:  Groundworks Grade 4, p. 10, Creative Publications] 
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